Onepole®

Assembly instructions

Pole

Charger

&

-

Unbrako Unbrako
M5/3,0 M6/4,0
| |

Bracket
T~
o
V]

o

le

Roof
with or without hole

Driver to

Numero mini 12V

A

General lighting
12 Watt

LED module for

number sign

Numero mini
pole top

Opal cover
facet cut

Top lid

Light bracket
Uno

Duo

j ol |o

Top lid
with hole

Plate for driver -
Do not put it on the same
side as the blind cover

o

Blind cover

[

Front cover

)

Screws for blind cover

Screws for bracket

Screws for charger

M5 X 10 M6 X 16 M5X8
A é @ 2X B é @ 2X C g @ 4x
Screws for Mounting nuts for Screws for
General lighting light bracket driver plate
M4X8 @ 10mm M5 X10
H © = H4X 5 © ix

Screws for roof
M6 X 20

Yo 38

Screws for
Numero mini
Pole top

M6 X 140

Grounding

2+1

K 4x

')))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))

Screws for
front cover

M 5X10

"2 ©

Q




X AN ANy -
@\ T N\
/
N
N LY //v@
/ T T
/

General lighting
! N\
\
\

74

——) & =g




% //@v
/

12

© E _
= //@M © AN @<//p//@

/ N T LN D Ok @

¥



